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Algorithm 1: BJA //Blind Jamming Algorithm
Input: Tin

Output: Tout

Initialize Parameter;
Input=Tin ;
//create the disturb index by random function
TEXT[i]=PreSegment Tin ;Dis_Index=Random ;
Begin
WHILE Dis_Num<INTENSION
{    //creat the disturb mode by random function
Dis_Mode=Random ;
Disturb TEXT[i],Dis_Mode ;Dis_Num++;
}
Tout=Revert the disturbed Text using TEXT[i];
End
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Algorithm 2: PJA //precision jamming algorithm
Input: Tin ,sensitive keyword list
Output: Tout
Initialize Parameter;
Input= Tin;

//create the disturb index by random function
TEXT[i]=PreSegment Tin ;Dis_Index=Random ;
Begin
WHILE Dis_Num<INTENSION {
//fread the sensitive keyword list,and distinguish this word
If TEXT[i] in sensitive keyword list then Dis_Flag=true;
If Dis_Flag {    //creat the disturb mode by random function
Dis_Mode=Random ;
Disturb TEXT[i],Dis_Mode ;Dis_Num++;    }}
Tout=Revert the disturbed Text using TEXT[i];
End
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Sentifier

neg 2999 pos 3000

neg:2259 pos:640 78.63% pos:2292 neg:708 76.40% 77.52%

=0.1 neg:2365 pos:634 78.83% pos:2246 neg:754 74.86% 76.85%

=0.5 neg:2289 pos:709 76.30% pos:1850 neg:1150 61.67% 68.99%
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neg:2561 pos:438 85.36% pos:1542 neg:1458 51.40% 58.38%
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FlexMatch
p v

v p nom jam
FlexMatch p,v {
m=Lenth p ;
n=Lenth v ;
if m>n
exit 0 ;

PreProcess v ;//
if !m SetupDict p ; //
TransDict p, q ; //
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flag jam=0; // 0,
jam=0; // 0
nom=0; // 0
for int i=1; i<=n-m; i++ {
for int j=1; j<=m; j++

{ if v[i] C //v[i]
then { flag_jam++; i++;}

else  if v[i]==pp[j] then {i++; j++;}
else break;   }

if j>=m then {
if !flag_jam then nom++; else jam++;  }

flag_jam=0;   }    }
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